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parameter(nt1=1000,nt2=1000)

real x(nt1,nt2),y(ntl,nt2),z(nt1,nt2),xx(nt1,nt2,4),yy(ntl,nt2,4),
/ zz(nt1,nt2,4),a(nt1,nt2),xn(nt1,nt2),yn(ntl,nt2),zn(ntl,nt2)

OPEN(UNIT=1,FILE="bottom.in")
OPEN(UNIT=2,FILE="bottom_element.dat’)
OPEN(UNIT=3,FILE="bottom_normal.dat’)
OPEN(UNIT=4,FILE='bottom_node.dat")

write(*,*) i P [AFIET VFO3 IDBET ke )
write(*,*) 'ﬁfmj" AB,CD [“l]ﬁ,ru&’m R
write(*,*)
write(*,*) gr‘ﬁ,T R
write(*,*)
write(*,*)
write(*,*) " N’
write(*,*)" I
write(*,*) " ¥ 6 D---+---+---+---C'
write(*,*) ' [FIJ 5 #o--tiotoeat oot
write(*,*) " 5T 4+ttt
write(*;*) %’U 0 i At SR et R
write(*,*) ' B 2 4ttt
write(*,*) " = |1 A--t---t--t-—-B'
write(*,*) " 6'
write(*,) T 20 \e{ W) 5
write(*,*) " --> '
write(*,*)" NJ (x) ij[ﬂj [L@\T 5

no=6
write(*,*)
write(*,*) "1 [N T35 Y EE’ I no=#6
write(*,*)
write(*,*) iy *  z =constz puH AR
read(*,*) zconst

L



write(*,*)

write(* %) iyt NI(y) o [ffos i
read(*,*) ni

write(*,*)

write(*,*)

write(*%) -t NI () [ g

read(*,*) nj

nil=ni-1
njl=nj-1
kn=nil*nj1

read(1,*) xa,ya
read(1,*) xb,yb
read(1,*) xc,yc
read(1,*) xd,yd

X(1,1)=xa

y(1.1)=ya

X(1,nj)=xb
y(L.nj)=yb
x(ni,nj)=xc
y(ni,nj)zyc
x(ni,1)=xd
y(ni,1)=yd

xab=(xb-xa)/nj1
yab=(yb-ya)/nj1
xbc=(xc-xb)/nil
ybc=(yc-yb)/nil
xcd=(xd-xc)/njl
ycd=(yd-yc)/nj1
xda=(xa-xd)/nil
yda=(ya-yd)/nil

do j=2,nj1
X(1,j)=x(1,1)+xab*(j-1)
y(Lj)=y(1,1)+yab*(j-1)



end do

do i=2,nil
X(i,nj)=x(1,nj)+xbc*(i-1)
y(i,nj)=y(L,nj)+ybc*(i-1)
end do

do j=2,njt

Ji=nj1+2:]
X(ni,jj)=x(ni,nj)+xcd*(j-1)
y(ni.jj)=y(ni,nj)+ycd*(j-1)
end do

do i=2,nil

1i=nil+2-i
X(ii,1)=x(ni,1)+xda*(i-1)
y(ii,1)=y(ni,1)+yda*(i-1)
end do

doi=2,nil

do j=2,nj1
xij=(x(i,nj)-x(i,1))/nj1
yij=(y(i,nj)-y(i,1))/nj1
X(1,J)=x(1,2)+xij*(j-1)
y(i.1)=y(i, 1)+yij*(j-1)
end do

end do

do ki=1,nil
do kj=1,nj1

xx(ki,kj,1)=x(Ki,kj)
xX(Ki,Kj; 2)=x(ki,kj+1)
xx(ki,kj,3)=x(ki+1,kj+1)
xx(ki,kj,4)=x(ki+1,kj)

yy(kikj,1)=y(ki kj)
yy(Ki,kj,2)=y(ki kj+1)



yy (ki kj,3)=y(Ki+1,kj+1)
yy(Ki,kj,4)=y(ki+1,kj)

end do
end do

DO KI=1,NI

DO KJ=1;NJ
Z(KI,KJ)=-zconst
END DO

END DO

do ki=1,nil

do kj=1,nj1
doj=14
zz(ki,kj,j)=-zconst
end do
end do
end do

do ki=1,ni

do kj=1,nj

write(4,3) x(ki,kj),y(ki,kj),z(ki,kj),no,ki,Kj
end do

end do

do ki=1,nil

do kj=1,nj1

write(2,4) ((xx(ki,kj.j),yy(Ki,kj.j),zz(ki,kj,j),no,ki,Kj,j),j=1,4)
end do

end do

CALL normal(Xx;Yy,Zz,XN,YN,ZN,A/NT1,NT2,NI1,NJ1)

do ki=1,nil
do kj=1,nj1
write(3,2) xn(ki,kj),yn(ki,kj),zn(ki,kj),a(ki,kj),no,ki,kj
end do



end do
FORMAT(3F10.4,4i5)
FORMAT(3F10.4,3i5)
FORMAT(4F10.4,3i5)

stop
end

C*************************************************************

SUBROUTINE normal(X,Y,Z,XN,YN,ZN,A,M,L,NI1,NJ1)
REAL X(M,L,4),Y(M,L,4),Z(M,L,4),XN(M,L),YN(M,L),ZN(M,L),A(M,L)

DO 1=1,NI1
DO J=1,NJ1
R1=X(1,j,3)-X(1,J,1)
R2=Y(1,J,3)-Y(1,J,1)
R3=2(1,J,3)-Z(1,J,1)
R4=X(1,,4)-X(1,J,2)
R5=Y(1,,4)-Y(1,J,2)
R6=Z(1,J,4)-Z(1,J,2)
R=SQRT((R5*R3-R6*R2)**2+(R6*R1-R4*R3)**2+(R4*R2-R5*R1)**2)

XN(1,J)=(R5*R3-R6*R2)/R
YN(I,9)=(R6*R1-R4*R3)/R
ZN(1,9)=(R4*R2-R5*R1)/R

T1=X(1,3,2)-X(1,3,1)
T2=Y(1,3,2)-Y(1,,1)
T3=2(1,J,2)-2(1,J,1)
T4=X(1,3,4)-X(1,,1)
T5=Y(1,3,4)-Y(1,J,1)
T6=2(1,J,4)-Z(1,J,1)

R=.5*SQRT((T2*R3-T3*R2)**2+(T3*R1-T1*R3)**2+(T1*R2-T2*R1)**2)
T=.5*SQRT((R2*T6-R3*T5)**2+(R3*T4-R1*T6)**2+(R1*T5-R2*T4)**2)
A(1J)=R+T

END DO

END DO



RETURN
END
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